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1. Complete the workings out 51 =~ 3 —

e3x10=..... 1S £00 tevvieiiiei,

e3x20=..... 1S 100 oveeeeiiiiiiiiii, 3 X 1 0 =

x| 21314567819 3 X =

3169 [12(15]18 |21 2427 3 X 1 =
2. Complete the workings out 44~ 6=

o6 x20=..... 1S £00 tivvieiiiei,

06 x30=..... 1S 600 wevviiiiiiiiiiiiis 6 X 2 0 =

x 123456789 6 X =

6 |12 18|24 30|36 | 42|48 | 54 6 X 2 =
3. Complete the workings out 108~ 3 —

e3x30=..... 1S £00 wivviiiieeii,

o3 x40 = ... 1S 100 covieeeeeiiiiii, 3 X 3 0 =

x| 23456 7[8]9 3 X =

3 16| 9]12]15|18|21|24]27 3 X 3 =
1. Complete the workings out 51 = 3 —

o3 x10=....... 1S 00 oviiiiiiiiiii,

e3x20= ... 1S 100 oo 3 X 1 0 =

x| 21314567819 3 X =

3161]9]12]15|18|21|24]27 3 X 1 =
2. Complete the workings out 44 = 6 — .

06 x20=..... 1S £00 wevvieiiiii,

06 x30=..... 1S 00 voveveeeiiiiiiiinn, 6 X 2 0 =

x| 2134567819 6 X =

6 [ 1218|2430 |36 |42 |48 | 54 6 X 2 =
3. Complete the workings out 108~ 3=

e3x30=..... 1S 00 tivvieiiiei,

e3 x40 = ... IS t00 ..o 3 X 3 0 =

x| 21314567819 3 X =

316912151821 |24 |27 3 X 3 =
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4. Complete the workings out 196~ 7= .

o7 x20=..... 1S t00 wivvieiiieiii,

e 7x30=..... IS £00 wevvviiiiiiiiiiii, 7T x 2 0 =
x| 234567819 7 X =
7 [ 14|21 |28 |35 |42 |49 | 56 | 63 7T X 2 =

5. Complete the workings out 84 =~ 6=

oG x10= ... 18 00 iiiiiieiiei,

06 x20=..... 1S 600 oveeeeeiiiiiii, 6 X 1 0 =
x| 2|3[4|5[6|7[8]9 6 X =
6 |12 | 18|24 | 30|36 | 42| 48 | 54 6 X 1 =

6. Complete the workings out 266 = 7 — ..

e 7Tx30=..... 1S 100 v,

o7 x40 = ... 1S 00 vovveeeeeiiiiiiia, 7T X 3 0 =
x| 2345|6789 7 X =
7|14 |21 | 28|35 |42 |49 56|63 7 X 3 =

4. Complete the workings out 196 =7 =

o7 x20= ... 1S 100 weveieiiii,

o7 x30= ... 1S 100 vovveeeeeiiiiii, 7T X 2 0 =
x| 23456789 7 X =
7 [ 14|21 |28 |35 |42 |49 | 56 | 63 7T X 2 =

5. Complete the workings out 84 = 6 =

o6 x10 = ... 1S £00 wivvieiiieiii,

06 x20=..... iS 600 wevviiiiiiiiiiiis 6 X 1 0 =
x 1213|456 7]8]09 6 X =
6 |12 | 18|24 30|36 | 42|48 | 54 6 X 1 =

6. Complete the workings out 266~ T —

e 7Tx30=...... IS £00 tevvieiiiieee,

o7 x40 = ......... IS t00 ..o 7T X 3 0 =
x| 2345|6789 7 X =
7|14 (2128|3542 |49 |56 |63 7T X 3 =
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